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All questions are compulsory.

Questions number 1-5 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6- 10 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11- 16 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of 5 marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

‘e’ (SEATO) 1 forqd €9 &1 3 ?
What is the full form of ‘SEATOQO’ ?

IR STefeaaEa S fortt Toh J&F fomivar i IR HIT |
Highlight any one main feature of the U.S. economy.
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11.

12.

13.
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“IaTe ATYeTRichdl o A WdiTeh Tal 3 |7 =Irif<d 38Usy | 1
Justify that “Regionalism is not as dangerous as Communalism”.

D AN AT R dr=d 7 R G 370 1 TEISE AT AR 2 1
Why do some people feel that Article 370 should be revoked ?

3T hEl deh FgHd @ foh SATUTdRTA <h! HNSUNT 9 WA U IfRAT o HHIcHS
Torawor <t SHeIR fopam B 2 1

How far do you agree that the proclamation of emergency weakened the
federal distribution of power in India ?

U 61 forg fafsmedt 3 YR & Tdsdr Teled & SR, 38 Ush foaiicH
TSe=e ST ? 2

Which characteristics made the Congress an ideological coalition during
the freedom movement of India ?

T T < god Hequl IRomy i 9g=H i | 2

Identify the most important outcome of the Rio Summit.

HifoRrd €9 o oo | T UsA AN H8 ATHI=IG gl ? 2
How was the U.S. benefited by the Soviet disintegration ?

UTfehed™ | 3o H¥a-g S o foTT his g1 3™ gemsy | 2x1=2
Suggest any two measures to have good relations with Pakistan.

JeefteRtur < fohmal Q1 @I T i@ HIT | 2x1=2

Mention any two benefits of globalisation.

A G ThI-URRTE Thal SHIE W& H 918 T8 yifirent 1 samea it | 4

Explain the role played by India in maintaining Afro-Asian unity.

g shifd o fopral =R IRomdT <1 vl <hife | 4x1=4

Describe any four consequences of the Green Revolution.

argl-feielt sTcier & fehegl 21 UE el 1 i shifoe fSesid 38 ATler i
Higenati & 3T=eieH o1 e | 2x2=4

Describe any two issues which made the Anti-Arrack Movement as a
women’s movement.
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14. TG GET i IEYRM hl AT T | 4

Explain the concept of ‘Human Security’.

15. “Tieha—s cferor ufsmm o & bl Jgelt 98 S9dT ST @1 2 |7 39 hAd
rfad 38sy | 4

“Democracy is becoming the first choice of the people of South Asia.”
Justify the statement.

16. T3HYT THR Ueh-goild TR I qorT H fopm TR 1feres SArhaiten fog gt
8 ? 4
In what way do the coalition governments prove to be more democratic
than the one-party governments ?

17. = U T SE@u w1 eaEYds e i IR fmfafed T 6 IW
SIS
TFAAETE! G 3 Gl TR 8 Seigdsh WA SRt T S i
AN Bl € | 38 IMEIed % Guedes YUY TSHifdes d&dl i g i % fau
fEoe |TeAl & AT o 9 U oofldl < ¥ | 39 99 ... UfTEH ST SRR 3
g FoRa g0d F3 FY FAH IO, Wfehd TG HGleH &b |
Goh! | 91 o Tl | I8 < o hs 3T {WN | et T |

()  Aegaaredt 4 fEEr o SISl grertHeRdr w4t 4 ?

(i) TEd1 % WA & SMES[E, TFIAAIE TG hl FhNICHS qfHehT H
TR HIT |
(iii) 39 TSI hl Uh o hI3 g1 IUTT FATST, | 1+2+2=5

Read the given passage carefully and answer the following questions :

The Naxalite Movement has used force to snatch land from the rich
landowners and give it to the poor and the landless. Its supporters
advocated the use of violent means to achieve their political goals. In
spite of the use of preventive detention and other strong measures
adopted by the West Bengal government ...., the Naxalite Movement did
not come to an end. In later years, it spread to many other parts of the
country.

(1) Why did the Naxalites prefer to use violence ?

(i1)  Assess the positive role of the Naxalite Movement in spite of using
violence.

(iii)  Suggest any two measures to contain this movement.
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18. = feu 7u Sraamor w1 eyHyds stewE difse it ffaRed g % 3w

A
Tefugrar i AHifa sfa gg & Tl § gt off | ... wiferra @9 & faeea

3R 1991 # Sfta g i ToIfd o &Y &, Teh AU ATGle R R 6
fagw Hifa K q@ WeT % 9 § [eHRUSA hI TEARRAT qAT THERIRAT §
ovet Y IR |
(i)  9Ra A Tefuetar st fifd st F= ST ?
(i)  TefRus AT S IRl § HHt AW & fhegl QI HRUT Hl T

i |
(iii) 379 gl o HgHd & foh TS TSTH, Th A A & T
8 ? 1+2+2=5

Read the given passage carefully and answer the following questions :

Non-alignment as a strategy evolved in the Cold War context.
.. with the disintegration of USSR and the end of Cold War in 1991,
non-alignment, both, as an international movement and as the core of

India’s foreign policy, lost some of its earlier relevance and effectiveness.
(1) Why did India adopt non-alignment ?

(ii)) Explain any two reasons for the loss of its relevance by the
Non-Aligned Movement.

(iii) How far do you agree that the Non-Aligned Movement has become
an international movement ?

19. = fou MU s w1 egEe A iy o fEfafed T 6 IW
AT
Tod 9 91d I8 2 b wNER Ut % gied @ fafiman & fagra @ wietd
fieft | 79 &7 *8d & T YRG 3 SAhas ITUERN B, A1 SHRT WET-AT AdeAd saq1
W TE gar b 9Ra T cAlehdities Gi9g™ W 0 gal 8 I¥dT YRd ° A1
HETT AT & | WRA o ARRAIEH 81 1 Teh Jaal 31 8 | ARhad I A &l
1d o faftmrasn &t yg=mAT 3R 3% R S | A1 &, I8 "EHL I
fop fafererarati o ol oy off &1 wehd 8 | gEX W1sq1 W g dI WA H dAlehadl
1 gron foemi TR Saq-ugfadt sl agerar | et 83 off |
i) ‘ureTE el | @ I R 2
(i) YRd H WINER TSF F1 41T 7T ? g & HRUT T HIfT |
(i) WRA § AR i fohd TR fa=mi iR Sfe-ugfaai i sgaa 4 Sie

TR 2 1+2+2=5
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20.

59/3

Read the given passage carefully and answer the following questions :

Above all, the linguistic states underlined the acceptance of the principle
of diversity. When we say that India adopted democracy, it does not
simply mean that India embraced a democratic constitution, nor does it
merely mean that India adopted the format of elections. The choice was
larger than that. It was a choice in favour of recognising and accepting
the existence of differences which could at times be oppositional.
Democracy, in other words, was associated with plurality of ideas and

ways of life.

) What is meant by ‘linguistic states’ ?
(ii)) Why were linguistic states formed in India ? Explain any two

reasons.

(iii)) How is democracy in India associated with plurality of ideas and

ways of life ?

= feu MU wEA w1 eamyds stemA Hife qun frafafed g % 3w

Qfve

== ;’é‘;;;‘“i{fz;/:f‘ =

() I8 DI T8 <1 & Fald 8 2

(i) 38 Hed # feu mu fom & weftenl 3 wefa <@ 1 wgEEA HoSOeR

HEEAr <hl 8 ?

(iii) I§ I T <IN I, I T hl TG B FopE T T @

72

1+2+2=5



Note :
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Study the cartoon given below carefully and answer the following questions :
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(1)
(ii)

Which country does the given cartoon refer to ?

Identify the two symbols in this cartoon which have given you the
clue about the related country.

Where does the cartoon place the related country in the
international power politics ?

(iii)

HETCTRIT 597 FaeT GIRETIT Ghemiorar & o7g, Jo7 G837 20 & €7 W& |
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.
(20.1) WTETET G g ST TR & fohsft T @ @1 AW fofau |
(20.2) < UH wfmr o % T fafeu, S wE A fava B s g8 wfwat
HqEd € |
(20.3) =7 FTHR GAI S fferaed H dfvdsh TR W Gl oH * e
3T T fohegl G haHl ol HedTehd i | 1+42+2=5
(20.1) Name any one country of Asia ruled by the Communist Party.
(20.2) Which two Asian countries consider themselves as the emerging
global powers ?
(20.3) Evaluate any two steps taken by the Chinese government to open
its economy to the world.
7 P.T.O.



21. feu U wraE & UsHifas WEwmtE |, o s sl @), @), ©, © aur

® g fafea form mn 2 | 9 & 78 IR % SMER W 3R TgEE I
3R IWYFEdhT H Ieh HEl M, ITh! A HEAT q raf-od HeR afgd

fofau - 5x1=5

68° 72° 76° 80° 84° 88° 92° 96° 100°
T 1 T 1 1 T 1 1 1

38° 36°

32°

32°

28°

28°

24°

24°

200 20°

160 ‘IED

8°f g°

km100 0 100 300 500 km

720 760 50° 54 56 52° 56°
(i) 98 U o 7y Uew § @ I L S TR |

(i) 98 TS - Taaeal o q9aTd WA H I+ foere o1 foig fomam o |
(i) Tad WA H ATETE AR g IMd 98t U9 |

(iv) 1971 8 Y& TR T & §eT g7 T |

(v) BN I o SR N < &F § FYg a9 a1a T |
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In the given political outline map of India, five States are marked as
@), ®, ©, O and ®. Identify them on the basis of the information
given below and write their correct names in your answer-book with their
respective serial numbers and the alphabets concerned :

68° 72° 76° 80° 84° 88° 92° 96° 100°
1 1 T 1 T T 1 1 1

32°

28°

24°

20°

.r""\_

o/

N
“’\) Sy

32°

28°

24°

20°

12°

80

km100 0 100 300 500 km

1 1 1
72° 76° 80° 84° 88° 92° 96°

1)
(ii)
(iii)
(iv)
v)

The State which was carved out of Madhya Pradesh.

The State which opposed its merger with India after independence.
The first State of free India having a Communist government.

The State adjoining Pakistan territory up to 1971.

The State which became agriculturally prosperous due to Green

Revolution.

9 P.T.O.



e : el o7 &aet giEaniaa ghemaal & o, Jv7 G&ar 21 & €& |
g/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21.

(21.1) TEaFar | qd Tg-asg 1 fagra’ fohd Torifae g o feam o 2
(21.2) W =R Wagl % AW fifley {98 Taasdr & qeaq. 9RdE g9 |

o =1 feriy feparm o 2
(21.3) I Y AR IS ¥ HE H 99N JH Iid Th-Ush TS hl W
fetfiae | 1+242=5

(21.1) Which political party advanced the ‘“Two Nation Theory’ before

independence ?

(21.2) Name four Princely States which resisted their merger with the

Indian Union.

(21.3) Name one State each which was carved out of Uttar Pradesh and

Punjab.
22. WaaTH! fhre HEd & ? ATl shi fohegl IR GRS 1 aviF hifT | 2+4=6
3HUAT
ARl o foTu ITterll fohral 9 Shiehl =Rl 9UH hITTT | 3x2=6

Who are indigenous people ? Describe any four problems of the
indigenous people.

OR

Describe any three factors which are responsible for globalisation.

59/3 10



23.

24.

25.
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ofag TTeied aum ‘gfog sy (DK) & w9 # .. e 9fEr &

INE T I HIT | ok, (DK) % a9 qm €.\ .. (DMK) & ®9 H

THT TSHIT o= /T 53T 2 3+3=6
HAYAT

e h1 Jfth 3TR 3Teh WA T 1 ST S <l fhAT 1 90 HIT | 3+3=6

Describe the role of E.V. Ramasami ‘Periyar’ in the Dravid Movement
and the formation of Dravida Kazhagam (DK). Why did the DK get split
and enter into politics as DMK ?

OR

Describe the process of Goa’s Liberation and becoming a State of the
Indian Union.

GIh TS AT oh T oh (a9 T TSIk THTET T forgersor it | 6
HAYAT

A Te o 3f gureselt @i Ted 9 % fore Iaeerht foRedl i el

=1 fergerr il | 3x2=6

Analyse the political impact of hegemony of the U.S. on the world.
OR

Analyse any three factors responsible for the European Union to be a
highly influential regional organisation.

TYeh TP Glan giwe # wRd 1 Trlt gewrar & ue § H I SuE de

AN | 3x2=6
3UAT

dE g % AN % JEE ITH AT WAt fRH YR UEdll gHET H T a9

AT o Wl 9 AT 2 2 394 I & 97 § IegLr SIfSu | 6

Give any three suitable arguements to support India’s candidature for
the permanent membership of the U.N. Security Council.

OR

How are the threats faced by the people in the Third World different from
those faced by the people living in the First World ? Support your answer
with examples.

11 P.T.O.
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27.
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1969 § h1UH Ul o faveM o formgl o9 shron sl Tase hifoig | 3x2=6

rera
1980 % HeATATY THTE! o foTu ITert aifefaat 6t samen iV | 6

Explain any three causes of the split in the Congress Party in 1969.
OR

Explain the circumstances that led to the mid-term elections in 1980.

e ofifve for sfta g 7 gan, o v feufa o wwa 6 foew Hifd @ @

U9 gl ? 6
YT

Ife wifaaa g9 o1 foeeq 78 grar o fova fg-gaa o war, o v feafa o

Tava goFifa = 9vme gedn 2 6

Suppose there had been no Cold War, how would that situation have
affected India’s foreign policy ?

OR

If the Soviet Union had not disintegrated and the world had remained
bipolar, how would that situation have affected the world politics ?
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